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2 FoUS I L Hae 51,500 47,440 4,060
2 F29S I} =7 42,490 41,930 560
201 Y2 2| 28,000 27,440 560
01 A2 22l 16,600 16,040 560
o2y+y 6,500 5,940 560
OZfol# I 2 FF 3,500,000 3,500 2,940 560
suEe 29 9,010 5,510 3,500
303 L& 3 3,500 0 3,500
01 Z&3 3,500 0 3,500
OAME A &2 EAZ  3,500,0002 14 3,500 0 3,500
AEWH2Y 348,852 299,852 49,000
S AT 223,652 208,652 15,000
201 LBt 2 bl 149,021 134,021 15,000
01 AR 22l 131,427 116,427 15,000
CHEER-1F 117,082 102,082 15,000
OOjarer 2 OlarA o4 2F 37,800,0002 37,800 22,800 15,000
2N Y2 T 125,200 91,200 34,000
201 282 bl 50,000 25,000 25,000
01 A2 22l 30,000 15,000 15,000
CHIETRS=Y:] 20,000 10,000 10,000
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ozzHl 10,000 5,000 5,000
OFFYLEN I8 FF 10,000,000 10,000 5,000 5,000
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03 Al =AY R =& 33,200 34,200 A 1,000
OZHLANHFAHIZ=AH|
Z & 33,200,000& 33,200 34,200 A 1,000
301 et a = 35,000 25,000 10,000
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